To Live or Not to Live: Answers

1. The most important factor is the liquid temperature.

2. This water is said to be 100% saturated.

3. The water is caused to absorb more oxygen by either increasing the pressure exerted on the water or by adding liquid oxygen.

4. More oxygen can get to the fish by either increasing the water flow reaching the fish, or by increasing the percent of oxygen saturation.

5. Oxygen helps the trout burn food in its cells to produce energy.

6. The oxygen moves from an area of high concentration in the water to the area of low concentration in the blood of the gills by diffusion. (water to blood)

7. The carbon dioxide moves from an area of high concentration in the blood of the gills to the area of low concentration in the water by diffusion. (blood to water)

8. When the oxygen saturation is below 60%, the energy and oxygen required to pump water over the gills is greater than the amount of energy the trout can get.

9. This can be recognized by the rapid gill movements or high respiration rate.

10. “Cold-blooded” means that the metabolism and activity rate of the trout depends on their surrounding water temperature.

11. Farmers can compensate for decreased oxygen by:

a) increasing the water flow to the trout

b) increasing the oxygen saturation

c) cooling the water, which will increase its oxygen carrying capacity

12. If the above methods cannot accomplish this, then the number of fish per given volume of water must be reduced.

